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pH C/N P20s K20 CaO MgO Cd Cu Zn
(110 H20) mS/cm ppm_ppm__ppm
H13 21 57 84 17 - - 36 24 12 00 80 10 29 12 - 367 622
H14 4 63 77 10 29 70 41 35 06 00 75 07 19 09 - 373 516
H15 32 55 84 21 26 61 43 30 13 00 88 12 24 14 - 406 564
A Hie 27 58 85 19 28 65 46 33 13 00 92 15 26 16 - 385 585
H17 32 58 86 20 27 59 46 32 14 00 120 16 29 18 12 517 800
H18 34 55 83 21 26 58 45 32 13 00 97 09 25 13 19 657 840
32 53 83 18 27 63 43 31 12 00 92 11 25 14 15 451 654
B 41 65 85 31 30 43 70 46 24 00 86 04 15 05 19 424 715
C 29 63 79 16 32 78 41 30 12 00 83 02 08 03 13 399 602
D 35 76 78 47 37 45 83 59 24 00 80 08 05 06 07 166 280
E 41 61 83 15 29 60 49 34 15 00 103 04 29 08 17 660 862
F 29 55 89 18 27 63 43 26 17 00 96 04 27 08 14 245 752
44 76 89 47 37 78 83 59 24 00 120 16 29 18 19 660 862
21 655 77 10 26 43 36 24 06 00 75 02 05 03 07 166 280
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